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HW1: Given [ =5,¢ =2, plot u(x,t) and «'(z,t) in 3D and contour forms.
2cl _ 2nmc? _ 2sin(t)
u(z,t) = sin(t) + Z msm(nﬂct/l) + msm(t) R )
(1-— (—1) )sm(nﬂx/l) (1)

(o) = ST (1 a4 20

n=1

2sin(t
+ 3”?( J((=1)" = D]eos(nma 1) (2)
HW2: Find -
lim r¥dy,j=1,2,3,4,5... (3)
y—=0.J_0.51—z
0.5l—z .
lim r¥in(r)dv,j =1,2,3,4,5... (4)

y—=0.J_0.51—¢

where 72 = v2 + ¢/2.

HW3: Find limit

lim[tan™! — tan~1—Y | =? (5)
y—0 r—a r+a
HW4: RaN M EEEER
[(2+ 5)"%)/1 (6)
HWS5: k40T #8 850 {E .
| (1+4) |= (7)
HWG6: K40 #8 8R
=i, z2=" (8)
HW7: #4117 18 Bk 8
cos(z + iy) =7 (9)
HWS: #8485 FEE (2 plane to w; plane)
1—2z
= 142 (10)

Hep o wy = ui(2,y) +ivi(z,y), 2 = o +iy, 1€ (v,y) FEKE 2 +y* = 1 H@H 2* +y° =2
B E (ug, v1) P B R 7
HW9: %8 ok 8 5 FE B (w; plane to wsy plane)

wy = In(wy) (11)

Hov s wy = ug +iva, w1 = Uy + vy, TE (U2, ve) FHINEFR v2 = 7/2 B oy = —7/2 B F]
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